Tender No: MUM\_N\_EN\_RUB\_VAPI Closing Date/Time: 20/02/2023 15:00

**CGM/N/MUMBAI** acting for and on behalf of The President of India invites E-Tenders against Tender No **MUM\_N\_EN\_RUB\_VAPI** Closing Date/Time 20/02/2023 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

#### 1. NIT HEADER

Name of Work	Portion (by Pre-cast Segmenta	naving size 1x7.0x4.0m of approx. 25 al method and cast in-situ) at VAPI Ro petween Vapi-Bhagwada Railway sta Western Railway	OB at IR KM 172/16-18			
Bidding type	ormal Tender					
Tender Type	Open	Bidding System	Single Packet System			
Tender Closing Date Time	20/02/2023 15:00	Date Time Of Uploading Tender	28/01/2023 13:35			
Pre-Bid Conference Required	Yes	Pre-Bid Conference Date Time	02/02/2023 11:00			
Advertised Value	35844963.23	Tendering Section	TENDER			
Bidding Style	Single Rate for Each Schedule	Bidding Unit				
Earnest Money (Rs.)	717000.00	Validity of Offer ( Days)	120			
Tender Doc. Cost (Rs.)	11800.00	Period of Completion	4 Months			
Contract Type	Works	Contract Category	Expenditure			
Bidding Start Date	06/02/2023	Are Joint Venture (JV) firms allowed to bid	Yes			
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)			

## 2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
	le A-Execution Box erection		as per Sch	nedule "A" (Item	ns as per USSOR	2019	15787175.02	Above/ Below/Par
	022010	550.00	cum	264.71	145590.50	AT Par	145590.50	
Description:- Earthwork in excavation for foundations and floors of the bridges, retaining walls setting out, dressing of sides, ramming of bottom, getting out the excavated material, back filling approved material and consolidation of the layers by ramming and watering etc. including all lif surplus soil upto a lead of 300m, all types of shoring and strutting with all labour and material cordrawing and technical specification as directed by Engineer in charge -22011 All kinds of Soil.								in layers with t, disposa <b>l</b> of
	22014	1650.00	cum	960.70	1585155.00	AT Par	1585155.00	
2		<b>n:-</b> Hard rock npletion of wo	U	`	e: 2 Machine mou	inted breake	r machines to be o	operated at a
	12020	3850.00	cum	191.02	735427.00	AT Par	735427.00	
Description:- Earthwork in filling in embankment, guide bunds, around buried typeabutments, br refuges, rain bunds, if provided, platforms etc. with earth excavated from outside railway be arranged by the contractor at his own cost as per RDSO's latest guidelines and specificat condition of contract including all leads, royalty, lifts, ascents, descents, crossing of nallal obstructions. The rates shall include all dressing of bank to final profile, demarcation and setting clearance, removing of shrubs, roots of vegetations growth, heavy grass, benching of existing s all handling/re-handling, taxes, octroi and royalty etc. as a complete job. Cut trees shall be profiled to be deposited in the railway godown unless specified otherwise in the Special Conditions of good quality soil, as acceptable to Engineer-in-Charge.							, ,	0 1 /
3	arranged b condition o obstructions clearance, all handling and to be d	y the contract ind f contract ind s. The rates sl removing of sl /re-handling, eposited in th	etor at his cluding all nall include hrubs, root taxes, octro e railway g	leads, royalty all dressing of s of vegetation oi and royalty odown unless	, lifts, ascents, c bank to final profi s growth, heavy g etc. as a complete specified otherwise	lescents, cro le, demarcat grass, bench e job. Cut tre	ossing of nallahs ion and setting out ing of existing slope ees shall be proper	or any other of profile, site e of old bank, ty of railways
3	arranged b condition o obstructions clearance, all handling and to be d	y the contract ind f contract ind s. The rates sl removing of sl /re-handling, eposited in th	etor at his cluding all nall include hrubs, root taxes, octro e railway g	leads, royalty all dressing of s of vegetation oi and royalty odown unless	, lifts, ascents, of bank to final profise growth, heavy getc. as a complete specified otherwise harge.	lescents, cro le, demarcat grass, bench e job. Cut tre	ossing of nallahs ion and setting out ing of existing slope ees shall be proper	or any other of profile, site e of old bank, ty of railways
4	arranged becondition of obstructions clearance, all handling and to be dof good quartical description rollers of suincluding co	y the contract independent of the contract independent	etor at his cluding all include thrubs, root taxes, octroe railway go ceptable to cum rechanical of the consultation of the co	leads, royalty all dressing of s of vegetation of and royalty odown unless s Engineer-in-C 47.04 compaction of size to achieve mable and all	, lifts, ascents, control bank to final profice sometimes between the bank to final profice specified otherwise harge.  181104.00 earth/blanketing mespecified density	descents, crolle, demarcation descents, crolle, demarcation descents, crolle, demarcation descents, crolled demarcation descents demarcation demarcati	ossing of nallahs ion and setting out ing of existing slope ees shall be proper cial Conditions of C  181104.00 in embankment wit cification, testing as e work is to be executed in an angle of the conditions of the conditions in	or any other of profile, site e of old bank, ty of railways ontract. Types h contractor's per IS codes
4	arranged becondition of obstructions clearance, all handling and to be dof good quartical description rollers of suincluding co	y the contract independent of the contract independent	etor at his cluding all include thrubs, root taxes, octroe railway go ceptable to cum rechanical of the consultation of the co	leads, royalty all dressing of s of vegetation of and royalty odown unless s Engineer-in-C 47.04 compaction of size to achieve mable and all	, lifts, ascents, control bank to final profice some service as a complete specified otherwise harge.  181104.00 earth/blanketing mespecified density labour as a compay Projects" issued	descents, crolle, demarcation descents, crolle, demarcation descents, crolle, demarcation descents, crolled demarcation descents demarcation demarcati	ossing of nallahs ion and setting out ing of existing slope ees shall be proper cial Conditions of C  181104.00 in embankment wit cification, testing as e work is to be executed in an angle of the conditions of the conditions in	or any other of profile, site e of old bank, ty of railways ontract. Types h contractor's per IS codes
4	arranged be condition of obstructions clearance, all handling and to be dof good quational description rollers of suincluding conductions and to be dof good quational description rollers of suincluding conductions and the secription including be conducted by the secription including be conducted by the secription of the secription including be conducted by the secription of the secreption of the secription of the secreption of the secreptio	y the contract income of contract income of some of so	etor at his cluding all include hrubs, root taxes, octroe railway goeptable to cum nechanical sy, type and E&P, consules for Eart Metre a. R.C.C. picollars joint	leads, royalty all dressing of s of vegetation of and royalty odown unless s Engineer-in-C 47.04 compaction of size to achieve mable and all hwork in Railwa 2212.52	, lifts, ascents, control bank to final profits growth, heavy getc. as a complete specified otherwise harge.  181104.00 earth/blanketing me specified density labour as a compay Projects" issued 44250.40 and laying non-presented.	descents, cro le, demarcat grass, bench e job. Cut tre e in the Spec  AT Par naterial filled as per spec blete job. The d by RDSO, L  AT Par ssure NP3 cl	ossing of nallahs ion and setting out ing of existing slope es shall be propercial Conditions of C  181104.00 in embankment wit cification, testing as e work is to be executed.	or any other of profile, site e of old bank, ty of railways ontract. Types h contractor's per IS codes ecuted as per
4	arranged be condition of obstructions clearance, all handling and to be dof good quational description rollers of suincluding conductions and to be dof good quational description rollers of suincluding conductions and the secription including be conducted by the secription including be conducted by the secription of the secription including be conducted by the secription of the secreption of the secription of the secreption of the secreptio	y the contract income of contract income of some of so	etor at his cluding all include hrubs, root taxes, octroe railway goeptable to cum nechanical sy, type and E&P, consules for Eart Metre a. R.C.C. picollars joint	leads, royalty all dressing of s of vegetation of and royalty odown unless s Engineer-in-C 47.04 compaction of size to achieve mable and all hwork in Railwa 2212.52 pe Providing all ed with stiff mix complete above	, lifts, ascents, combank to final profise growth, heavy getc. as a complete specified otherwise harge.  181104.00 earth/blanketing me specified density labour as a compay Projects" issued 44250.40 and laying non-presented e 800mm dia.	descents, cro le, demarcat grass, bench e job. Cut tre e in the Spec  AT Par naterial filled as per spec blete job. The d by RDSO, L  AT Par ssure NP3 cl	ossing of nallahs ion and setting out ing of existing slope es shall be proper cial Conditions of C  181104.00 in embankment wit cification, testing as e work is to be execucknow.  44250.40 ass (medium duty)	or any other of profile, site e of old bank, ty of railways ontract. Types h contractor's per IS codes ecuted as per
4	arranged be condition of obstructions clearance, all handling and to be dof good quational department of the condition of the	y the contract f contract ind f. The rates sl removing of sl /re-handling, eposited in the ality soil, as ac 3850.00 n:- Extra for m itable capacity ost of water, on of "Guidelin 20.00 n:- 600mm dia ends etc with of ding testing of	tor at his cluding all include hrubs, root taxes, octrue railway greeptable to cum nechanical y, type and &P, consules for Eart Metre a. R.C.C. picollars joints etc. o	leads, royalty all dressing of s of vegetation of and royalty odown unless s Engineer-in-C 47.04 compaction of size to achieve mable and all hwork in Railwa 2212.52 pe Providing all ed with stiff mix complete above 2992.67	, lifts, ascents, control bank to final profice some specified otherwise harge.  181104.00 earth/blanketing me specified density labour as a compay Projects" issued 44250.40 and laying non-presented ture of cement me 800mm dia.	descents, cro le, demarcat grass, bench e job. Cut tre e in the Spec  AT Par naterial filled as per spec blete job. The d by RDSO, L  AT Par ssure NP3 cl ortar in the p	ossing of nallahs ion and setting out ing of existing slope ees shall be proper cial Conditions of C  181104.00 in embankment wit cification, testing as e work is to be executed existing as the condition of 1:2 (1)	or any other of profile, site e of old bank, ty of railways ontract. Types h contractor's per IS codes ecuted as per

Page 1 of 5 Run Date/Time: 28/01/2023 13:35:56

Tender No: MUM\_N\_EN\_RUB\_VAPI Closing Date/Time: 20/02/2023 15:00

l <sub>7</sub>	Description	n:- Providing a	and annivin	a two coats of	coal tar or bitumer	n confirming	to <b>I</b> S 3117 - 1965 d	in the ton and
•	-	_		-		_	ur and materials co	-
		the Engineer			9			
	52030	244.00	cum	1604.15	391412.60	AT Par	391412.60	
	Descriptio	n:- Supply an	d laying of	quarry dust in	cluding consolidat	tion, supply	of all materials, lab	our, lead, lift,
8		_		-	•		cted by the Engine	-
	case loose media	slush is enco	untered at	site of foundat	ion before casting	g the founda	tion or before layin	g the filtering
	52070	10000.00	Kg	257.48	2574800.00	AT Par	2574800.00	
9		_				_	ipples/Grouting cor pound w.r.t. cemen	
	52290	2500.00	HP Hour	35.23	88075.00	AT Par	88075.00	
10	_	<b>n:-</b> Dewtering ultiplied by pur			water from any lo	ocation. Payr	nent to be done for	Horse power
	52350	1150.00	Sqm	382.19	439518.50	AT Par	439518.50	
11	agent, appi phenolic re content nil resin based coat becom under a wa portable fer self suppor CC 1:2:4 bl horizontal la	lying (@ 0.30 sin based sing and a solid cod single comples tack-free; pater head of 2 noing along ruting steel anglock of size 0. ayers shall be	litre/sqm) gle componentent of mionent water permitting to the completent of the com	a coat (DFT of the coat (DFT of the coatings to the coatings the coatings to the coating t	of 100-150 micror mance polymeric, applying (@ 0.25 cound of grey or cure and dry naturalistication, providing to be done in class 6mm, 1.5m longed at c/c distancests. (Note- Release	n) of a trans waterproofir 5 litre/sqm) a other shade rally; the 2-co g and removious vicinity of g provided we ee of 2m alor	of cement of Poly lucent brown color of compound (sp. of a top coat of a mode of section (sp. of track). Fencing slight hooks etc. and of track. 12mm dia will be property of the color of	ared modified gr. 0.87, rosin lified phenolic fore the base impermeable the the help of embedded in rods in three
	13111	200.00	Metre	196.25	39250.00	AT Par	39250.00	
12	Description vertical pos	•	sion of one	50mm wide re	ro-reflective tape	in horizontal	direction, duly secu	ured/tight with
	41210	14.00	Day	137807.58	1929306.12	AT Par	1929306.12	
13	_	_		•	ing capacity with s Box etc. 41216 - 1		ength revolving typ	e for material
	41217	5600.00	МТ	1337.94	7492464.00	AT Par	7492464.00	
14	Descriptio part there c		ncrease in	road crane ca	pacity over Item 0	)41216 for e	very additional 1 M	T capacity or

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	<b>Bidding Unit</b>	
Schedul	hedule B-Execution of all works as per Schedule B (NS items-Concrete related work)  8899745.83							Above/ Below/Par	
	NS1	108.00	cum	6691.05	722633.40	AT Par	722633.40		
1			-		ith ordinary cemer ramming & curing		15 mix and provid	ling necessary	
	NS2	305.00	cum	9218.78	2811727.90	AT Par	2811727.90		
2	scaffolding deshuttering	Bed Retaining wall with 20/40mm down coarse aggregate of the required size for any depth including dewate scaffolding centring, shuttering, mixing, placing in position, consolidating with mechanical vibrators, cu deshuttering carefully, making good the damages, fixing embedment, inserts, pockets, wherever necessare specification and drawing.							
	per specification and drawing.								
	NOO	E40.00		0040.70	4704577.00	AT D	4704577.00		
	NS3	510.00		9218.78					
3	Descriptio including complete.A of shutterin released af	n:- providing centering so height from g set so, th	g and casting on the shuttering of the shuttering of the shuttering of the shuttering and the shuttering of panel ii)	ng in situ con scaffolding m (below grou can be caste	utrolled cement M3 where necessary und). (Note: As pared and at a time.) Note	35 for RCC w currying v nel casting to e: Stage pay	4701577.80 rork in RCC Box a ribrating curing be done.This rate rment- i) 65% payer launching and fir	s per drawing and finishing includes 4 set ment shall be	

Page 2 of 5 Run Date/Time: 28/01/2023 13:35:56

Tender No: MUM\_N\_EN\_RUB\_VAPI Closing Date/Time: 20/02/2023 15:00

4	<b>Description:-</b> providing and casting in situ controlled cement M30 for RCC work in Road and Wearing coat as per drawing including centering shuttering scaffolding where necessary laying vibrating curing and finishing complete.							
	NS5	248.00	cum	865.38	214614.24	AT Par	214614.24	
5	_	-			ed granular layer, awings or as direct		-	eturn wall and

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedul	e C-Steel ite		7546710.00	Above/ Below/Par				
	25072	107000.00	Kg	70.53	7546710.00	AT Par	7546710.00	
1	<b>Description:-</b> Supplying Reinforcement for R.C.C. work including straightening, cutting, bending, position and binding all complete Thermo-Mechanically Treated bars(Fe500D or more)							ng, p <b>l</b> acing in

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit	
Schedule	D-MISC NS	Item as per	WR				611332.38	Above/ Below/Par	
	NS1	300.00	Man-Days	400.88	120264.00	AT Par	120264.00		
	Descriptio	n:- Protectio	n of track	and other m	isc work as and	when requir	ed by the Engine	eer in Charge	
1	equipment detailed sco	hand signal ope of work	flags, spann as furnished	ers, hammer I in the tende	s protection of to s etc. complete as r and as directed man will be count	s per specifica by Engineer	ation and special in charge of the v	conditions and	
	NS2	600.00	Sqm	497.57	298542.00	AT Par	298542.00		
2	structural sl	neet i.e. with	n MS ang <b>l</b> es	s, channels, p	slope failure as pe ipes, shets/batten Engineer in Charç	ıs etc. with sı	•	•	
	NS3	252.00	cum	403.74	101742.48	AT Par	101742.48		
3	Description:- Uncoursed hand-packed DRY RUBBLE FILLING (in work like rubble filling behind abutments etc)								
3	without any complete.	special dr	essing of s	tones. Rate	includes <b>l</b> oading,	unloading, 1	&P, Transportati	on, taxes etc.	
	NS4	30.22	Sqm	3004.10	90783.90	AT Par	90783.90		
4	Description:- Providing SIGNAGE BOARDS of 2mm thick aluminum sheets backing and pasted with retro reflective sheeting of EG (Engineering Grade) on the background with colour, pattern & Designs as per approved drawings and with Signages cut out of retro reflectivesheeting of EG (Engineering grade) of approved pattern, design, text as per approved drawings and super imposed on the first layer. The sizes andshapes of aluminum backing will be as directed by the Railway Engineer and payment will be made for the area of aluminum backing after cutting torequired shapes and no extra payment will be made for wastages as well as reflective sheeting separately. The rate shall however exclude the costof back support mild steel frames for aluminum sheets and vertical posts which will be paid for separately ( under relevant items). The cost ofexcavation, foundation concrete and filling back earth in foundations for the vertical posts will be paid separately.( under relevant items). Note- Therates are includes supplying & fixing of signage board with contractor's materials, tools & plants, loading & unloading, transport, labour, taxes,duties, octrai, all lead and lift, crossing of track if required etc. complete.								

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	e E-MISC N	500000.00	Above/ Below/Par					
	NS1	1.00	Lumpsum	500000.00	500000.00	AT Par	500000.00	
Description:- Site Office Providing, arranging, managing and maintaining 500 sq.ft. well-furnished AC office a well equipped Laboratory with 3 tables, 10 chairs, 2 steel almirah, one computer with printer & operator, suffici								

well equipped Laboratory with 3 tables, 10 chairs, 2 steel almirah, one computer with printer & operator, sufficient number of display etc. to the satisfaction of the Project Manager including Electrical, Water expenses etc. For execution of this item the date of start shall be considered only when the Contractor has actually rented/constructed the required premises established the office & Laboratory as per requirement. This item shall remain valid only for original contact period; no additional payment shall be made for whatsoever reason even if time extension if provided or date of completion is extended. This office and laboratory including furniture and all other equipment shall be property of contractor after completion of Project.

Page 3 of 5 Run Date/Time: 28/01/2023 13:35:56

Tender No: MUM\_N\_EN\_RUB\_VAPI Closing Date/Time: 20/02/2023 15:00

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedul	le F-Any US	2500000.00	Above/ Below/Par					
	USSOR	1.00	Lumpsum	2500000.00	2500000.00	AT Par	2500000.00	
1	<b>Description:-</b> USSOR of W.Rly items requiring for successful completion of the work as a the work							/ in-charge of

## 3. ITEM BREAKUP

ı	
- 1	No item break up added
- 1	
- 1	

#### 4. ELIGIBILITY CONDITIONS

## Special Financial Criteria

S.I		Confirmation Required		Documents Uploading
1	As per Tender Document	No	INo	Allowed (Mandatory)

### **Special Technical Criteria**

S.No.	_ · · · · · · · · · · · · · · · · · · ·	Confirmation Required		Documents Uploading
1	As per Tender Document	No	INo	Allowed (Mandatory)

### 5. COMPLIANCE

### **Check Lst**

S.No.		Confirmation Required		Documents Uploading
1	As per Tender Document	No	No	Not Allowed

## Commercial-Compliance

S.	No.	•	Confirmation Required		Documents Uploading
1		Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.		ΙνΔο	Allowed (Optional)

#### 6. Documents attached with tender

S.No.	Document Name	Document Description
1	TenderDocumentforVapiRUB_28.01.2023.pdf	Tender Document
2	NITforTender.pdf	NIT for Tender
3	GAD_for_VAPI_RUB_1.pdf	Drawing
4	Sketch_of_DFC_Box.pdf	Sketch of RUB under DFC Portion

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Page 4 of 5 Run Date/Time: 28/01/2023 13:35:56

Tender No: MUM\_N\_EN\_RUB\_VAPI Closing Date/Time: 20/02/2023 15:00

Signed By: JAGDISH VIJAY RATHOD

**Designation**: DYPM

Page 5 of 5 Run Date/Time: 28/01/2023 13:35:56